Potencias de 10 (G)

5,908 = 10?

8,303 = 10!

2,282 + 10!

2,276 =107

5,319 =102

0,994 - 10?

0,907 = 10!

2,509 + 10!

5,814 +10"

0,41 = 10!

Calcule los siguientes cocientes.

1,586 = 102

4,407 + 10°

1,001 = 103

2,937+ 107

8,188 = 10!

9,588 = 10!

5,506+ 103

3,803+ 103

0,774+ 10!

2,963 107
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Potencias de 10 (G) Respuestas

5,908 = 10?
0,05908
8,303 10!
0,8303
2,282 +10!
0,2282
2,276 = 10?
0,02276
5,319 = 102
0,05319
0,994 + 102
0,00994
0,907 - 10!
0,0907
2,509 = 10!
0,2509
5,814+ 10!
0,5814
0,41+ 10"
0,041

Calcule los siguientes cocientes.

1,586+~ 10°
0,01586
4,407 - 103
0,004407
1,001 = 10°
0,001001
2,937 =107
0,02937
8,188 = 10!
0,8188
9,588 + 10!
0,9588
5,506 +10°
0,005506
3,803+ 10°
0,003803
0,774 = 10!
0,0774
2,963 +10°
0,02963
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